1. He is very difficult to ----—----——-——=——————— with.

a) deal b) dealt ¢) dealing

2. She has ~-———-—————— = her life to missionary work.

a) dedicate b) dedicated c) dedication

3.Dbon - your application to graduate school or else it won  be considered.
a) defer b) differ c¢) differentiate

4. We took this decision in ----------————--———————- to the opinion of the court.

a) difference b) defer c) deference

5.1 can -- ---- the full implications of the Theory of Relativity.

a) comprehensive b) comprehend ¢) comprehension
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Your teacher can send you the complete material.

Please ask them to send the complete version of this material before the lesson.
a) disgusting b) disgusted c) disguised
9. That war led to the --—--————-———— oo of the old Austrian Empire.

a) dismember b) dismemberment c) dismantle

10. Since the judge stands to gain from the sale of the property, she cannot be considered a

- - party in the dispute.

a) uninterested b) disinterested c) disinteresting

Answers

1. Deal 2. Dedicated 3. Defer 4. Deference 5. Comprehend 6. Discharged 7. Discriminate 8. Disgusted 9.

Dismemberment 10. Disinterested



